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Instructions

1)

i)

1)

v)

xi)

xii)

All questions are compulsory. -

This question paper has two sections ‘A’ and B’

Section ‘A’ contains 20 multiple choice type questions of 1 m, drk
each that has to be answered on OMR Answer Sheet by darkemng
completely the correct circle with blue or black ballpoint pen.
After giving answer on OMR Answer Sheet do not cut or use Craser,
whitener etc. _

Section ‘B’ contains descriptive type questions of 50 marks.

Total 5 questions are there in this section.

In the beginning of each question it has been mentioned how many
parts of it are to be attempted.

Marks allotted to each question are mentioned against it.

Start from the first question and go up to the'last quest:on Do not
waste your time on the question you cannot solve.

If you need place for rough work, do it on the left page of your
answer book and cross ( x ) the page. Do not write any solution on
that page.

Do not rub off the lines constructed in a question of construction.
Do write the steps of construction. in brief, if asked.

Draw neat and correct figure in solution of a question wherever it
is necessary, ot@rwise in its absence the solution will be treated
incomplete ag:‘l&rrong. '

S TqUg - I

&

@ Section - A

( Sgfamedty e )

( Multiple Choice Type Questions )

1. 9g% 3x® +5x+2 F YIB! #1 deet @M

(A)

()

(A)

5 5
2 B - 3
-5 (D) 6 . 1
1. The sum of zeroes of the polynomial 3x? + 5x + 2 will be
5 5
2 B -3
-5 (D) 6 _ 1

(C)
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giftaon 2x+ay . 3 822(HY)
™ 3x-5y 7 a1 A o A, AR 0 T B

A -2
3
o (B) 10
(C) -3
(D) %Q— 1
2. There will be no Solutign
the value of g ig of the equations 2x+ay=1 and 3x-5y=7 if
-3
(A) 16 B 3
10
: 10
) -==
3 o 10 |
3 it 2y +Sx+4=0 ﬁﬁﬁwm
(A) 9T 3R s "
() I 3R 3Ty o .

3. The nat ' ]
nature of roots of th{\@gatmn 2x*+5x+4 =0 will be

(A) - rational and cq@ _ (B) irrational
(C) rational a@unequal (2) not real

4. W A 4, 9, 14,...;.254 N WA A 109 g B
(A) 208 B (B) 204

4. 10th term frofn the end of the A.P. 4,9, 14, ..., 254 will be

(A) 208 - B 204
(C) 200 B | 1
S000/54 | [ Turn over

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

4

2(HY) . - .
sﬂﬁﬁawﬁ&?ﬁm@w%lﬁmwﬁmwwaﬁmm
5,
25@/\5% gge \ 6 &
B
(A) AABC ~ ADEF AABC ~ AEFD
(C) AABC ~ AEDF {D} i oft

|
5. In the figure, there is a pair of similar triangles. Its correct symbolic
- expression will be

25cn/1/\5°m 80° \ 6cm

(A) AABC ~ ADEF \\Q (B} ~ AABC ~ AEFD
(G] AABC ~ AE§§ (D) Al of these 1
6. T (-3,- 4@%%&?\,%@%
A) -3 B -4
© s (D) 6 : !
6.  Distance of the point (- 3, - 4 ) from origin will be
(A) -3 (B) -4
© s D) 6 -
3
7. ﬁ00t3=3€1?ﬁ sec A I W BN
4
a = 5
3 B (B) i
3
c = , 5 1
S 3
5000/54
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7. I cot A 2 then th
4 © Value of sec A will be
{A) 5 ' 5
B) -7
3 4
© 3 5
. ® 3 :
8. anu.-smq,‘é?haammm
(a) 0°
(C) 60° B) 457
. (D) 90° : 1
8. Iftana=sina then the value of o will be _
A) 0°
(D) 90° 1
9, m@sﬁmwmwam 1:43 & g %1 Swa 3 @
(A)  30° - (B) 45°
(C) 60° (D) 90° 1
9. I the ratio of the length of a rod and its shadow is 1:4/3, the elevation
angle of the sun will be
. (&) 30° \\Q@ (B) 45°
, (C) 60° ‘2;‘%6 (D) 9Q° 1
10. @@-%m%@%ﬁnﬁmwﬂ}@aﬁaﬂﬁwm
N\
A o N B 1
€ 2 - (D) 34 1
'10. Number of parallel tangent lines drawn to the end points of the diameter
of a circle will be . :
A o B) 1 |
© 2 _ (D} infinite _ 1
1. 12 ¥ frean At o 9 % 60° % 1 I Frowavs 1 Qe g
T A) 18% A2 B). 207 A
. _
(C) 24n &2 ) 30x ¥ : 1
5000/54 ' (Turm over
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11. The arca of the sector of a circle whose angle is 60° and radius |,
o

will be
(A) 187 cm? B) 207 cm?
(@) 24n cm? (B} 307 cm?
1
12, 3w W 1 A 4 R A IEH AT B
Ay 43 _ B | &3
®) %d | (B) 5 4
© 3mgs D) Zgd
3 - 6 O
12.  If diameter of a sphere is d then its volume will be
T .3
@ 3d (B) %da
an .3
(e} 3 4 (D} . —g—da 1
13. r B % = 3w arérh%@wwﬂ #A% gm
S
g\
W 22 39 B) 2nr
@Q\Q
€ 3nr?2 (D) 4nr? 1
13.  Total surface area of a solid hemisphere with radius r will be
2,2 |
[A‘} 2 nr [B} 21':?'2
(&  3nr? (D)  4nr? 1
14.  Fredfafen sramer e o ofers ot gm
= o
AU 0-5 5-10 |10-15|15-20|20-25
A) O0-
(CI S (B) 5-10
5000/54

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

822(HY)

1

1

T5-15] 15-20|20-25
5 8 2 .
(C) 10-15 (B) 5-10
0 (D) 15-20
5. fapdl SRERAT gRuf
| %Wm%mzznﬂmg%ﬁma@aﬁm
A) 28
(B) 31
(C) 33
' (D) 35
” T:c n'lean and median of o frequency table are 27 and 29 respectively.
Then its mode will be
h) 28 (B) 31
@ (D) 35
16. Teafoeriea areft :
aﬁﬂ.aii'“a’ 0-10 | 10-20 | 20-30 | 30 - 40
AaliSlL 2 1 4 3
%1 AT '
&
g\\
(A) 21 @% (B) 23
(C) 25 Q@‘Q\Q (D) 26
16. The mean of th% following table
Class-interval | +0- 10 10-20 [ 20-30 | 30-40
4 3
Frequency 2 1
~will bel B 23
w2 (D) 26
(C) 25 2
17. g aiferad & 53 FHAR ekl 5"“_**” 5
6 B 7
A =
7 1
D) =
(C] 7 [ Turn over
7
5000/54

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

8

17. The probabilily of 53 Mo
B 2
A ° 7
7
2 (D) %
o UCE T ' 1
18, 2 it @ o 2020 F g ! mﬁﬁq%ﬁ“m@ﬁal
B) -_L1_
® 365 B 35
2
D) -2_
© 3eg D) 2 |

18. Two friends were born in 2020. Find the probability that the date of birth

of them will be same.

1 1

(A) 365 - (B) 366

2 2

@ =55 B 366 - 1
19. & frgait (2,3) 3 (4, 1)%F 9 Hrgh Hh

(A) 2 S,Q\Q'& B) 3

@ 242 QQ;\% D)  2V3 1
19. The dist%@%bemccn the two points ( 2, 3 ) and (4, 1) will be

a) 2 B 3 | \

€ 242 D) 243 " v
20. F=fafea § smich s anfi |

(A) V25 (B) JEI |

5 _

© 3 D) ~ 5+v2 - !
20. Irrational number in the following wi-ll be

) V25 B) 81

© 3 (D) 5+42 | .
5000/54
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9
Uy - §
Section - B
(vtrees wrya )
l De“riptiv tions )
L P : | e ques
%! §a Hifdg| 2
b] H&cot%ﬁ ta_n(A 22& G{g‘fgg:ﬁﬂﬁﬂ%?ﬁﬂmqﬂwwl 2
() mm%f@wmma. 2
(d) ﬁﬂ'gﬁgawhm‘iﬂﬁmmaaﬁq: L:
F-@E [ 010 | 1020 | 20-30 | 30-40 | 40-50 | 50-60
TR 7 8 5 20 13 7
(e) Teuma it 4x2 +9x’+5 0 % H& J1d hIR 2
0 1%%3@8?@\ dfe i B 1 A T BT 2

1. Do all the parts :

&

(ay” If the diffe @c of two numbers is 26 and one number be three times
of other then find the numbers. |

1 2

[/]/- If cot2A =tan({A-22°), where 2A is an acute angle then find the

value of A. 2
{c) Prove that ﬁ is an irrational number. 2
/ i i tabl. . 2
(':}l/Fmd the median of the following table :

Class-interval 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 7 8 S 20 13 7

(e) | Find the roots of the quadratic equation 4x° +9%X+5=0, 2
—

0
}i; 1 cm.

5000/54
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822(HY)
S Fad it el @ e A ,
(a) Hﬁﬁﬁ@ﬁﬁ,.aa‘“@m@mmn%mn@mmm%ﬂ\
[m+n)"|ﬁﬁmwﬁmi

4
b mwﬁwmﬁ%ﬁﬁwﬂqﬁmwwwwaﬁ%mm

mwﬁ@ﬁﬁﬁgﬁmmm%mmﬁaaﬁmmmm

&
- %[_4’6)’%3ﬁ,q[-6,10134"118(3,—3)3%@3%31@%@1@%%
o arqera o R FE R P .
(d) Frefafen aewra aooft @ 9§95 T8 Hif _ .
1 - AU 0-20 20-4b 40-60 | 60-80 | 80-100(| 100-120 120-14q
TRl 6 | 8 10 12 6 5 3
e) feam wdfisre 3x2-2£x+2=0'%n§ﬁﬁmﬁﬁm 4
O () 867 U255 % AoHo FG Hifg|
(i) 867 auT 255 FHowo T FHiferay 249

2. Do any five parts :

(@) If the sum giMfirst m terms of an A.P. is n and

of the A.B the sum of first n terms
€A

is m; then find the sum of (m+n) terms. 4
Prove '
that . the angle between the tangents drawn from an external

int _ . |
point to-a circle is Supplementary to the angle formed by the line

Segment joining the po;
Points of contact of tan
circle. gents at the centre of the

4

4, 6) divide the line segment joining
»10)and B(3,-8)
the followip

Frequency 6 8

(b)

(€} In what ratig does the point ( -

the points A (- g
@)/ Find the mode of
Class-interval

g frequency table -
60-80 | 80-100
10 12 6
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3.

11 -

1 Find the .
. © TOOLs of the 2Jf6x+2=0.

\
(0 () Find the LCM of 867 and 255
! | an ‘
(1) Find the HCF of 867 and 255

frafafea % 40 _Bo
OoC "o ='§H¥JTAB=5

. 2 _
Quadratic equation 3%

2+ 2

@ﬁﬁﬁnammmﬁﬁml 6

A 53R g
O
D C
HYAT
6
frg it &% Wﬂﬁmmﬁ@aﬁﬂﬂmﬁmw@?ﬂﬁl
If iQ= Bo _1 and AB = 5 cm in the following figure, then find the
oc OD 2 )
value of DC. +ivcponn oo
& 5cm B
N\
&6
& o
N
@Q
$
D C
OR ;
' ircle are equal.
from an external point to a circ
_Prove that the tangents dra¥w? r .
L 6

A-cosA)= AT cotA”

4. fig B R (cosec A-sin Al
sraar
' v 30° 81 I 7EHHE
o o ﬁqﬁﬂ%-%ﬁl@mﬂ
ﬁymaaﬁﬂzﬁmﬁno%|mﬁqumﬂwﬁf
¥ e A TR H | |
- | [ Turn over
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Prove th i cA-cosd)= :
at (cosec A-sin A)(s€ ) tanA+cotA "

OR
The angle of elevation of the top of a tower from the to
height is 15 metre is 30°. Also the angle of elevatio

tower from the ground of the same house is 60°, Then fing the heigh
t
the tower and the distance of the tower from the house. "

3 g & Ao & R ST w1

6
| l 1 ‘]TI

6

p of a houge Whoge

n of the top of the

agar

15%ﬁma@qmqaﬁaﬁéﬁﬁm%meoﬂﬁrﬁwamﬁaaﬂ?ﬁélm

- Find “the areq of the éorrespondi

(7 =3-14,43 =1.73) 8 finor segment

822(HY) - 3,28,000
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